
MATHS

BOOKS - MBD NCERT SOLUTIONS

MBD NEW STYPE MODEL TEST PAPER - 2

Set A Section A

1. If H.C.F. of 56 and 98 is 14, then its L.C.M.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_upQEomhDLtsD


2. Find the product of the zeroes of the quadratic

polynomial .

Watch Video Solution

x2 − 3

3. For what value of K, the pair of equations

 has a unique solution?

A. 

B. 

C. 

D. 

Answer: A

2x + ky = 1, 3x − 5y = 7

K =
−10

3

K ≠
−10

3

K ≠
10

3

K ≠
3

10

https://dl.doubtnut.com/l/_9S2dlq3zNF1v
https://dl.doubtnut.com/l/_rb655HE3srTF


View Text Solution

4. The 15th term of the A.P. 7,13, 19, …………… is:

A. 105

B. 

C. 

D. 

Answer: A

Watch Video Solution

−78

97

91

https://dl.doubtnut.com/l/_rb655HE3srTF
https://dl.doubtnut.com/l/_vHD7SGZUwdaw


5. Find the common difference of the A.P.

Watch Video Solution

13, 15 , 18, 20 , ………….
1

2

1

2

6. Fill in the blank using correct word given in bracket :

Two polygons of the same number of sides are similar, if

their corresponding agles are …………….. .

(equal/propotional)

View Text Solution

7. . Their areas are . If 

, then value of BC is :

ΔABC~ΔDEF 64cm2 and 121cm2

EF = 12.1cm

https://dl.doubtnut.com/l/_TTB3RM7uFamu
https://dl.doubtnut.com/l/_gwSYxoxWs1uL
https://dl.doubtnut.com/l/_Zywm2tnLqOGx


A. 8.8 cm

B. 12.1

C. 12.4 cm

D. None of these

Answer: A

Watch Video Solution

8. If the length of the tangent drawn from a point P out

side the circle is 15 cm and radius of circle is 8 cm, then

distance of point P from the centre of circle is :

A. 7cm

B. 23 cm

https://dl.doubtnut.com/l/_Zywm2tnLqOGx
https://dl.doubtnut.com/l/_yCuZA2dWVpSs


C. 17 cm

D. 7.5 cm

Answer: B

Watch Video Solution

9. There are exactly ……………to a circle through a point

outside the circel.

View Text Solution

10. Find the distance between the points (0,0) and (36,15).

Watch Video Solution

https://dl.doubtnut.com/l/_yCuZA2dWVpSs
https://dl.doubtnut.com/l/_QNu98SRSXrR3
https://dl.doubtnut.com/l/_KfdmbkuCxnT2


11. Find the midpoint of the line joining the points (7,1) and

(3,5).

Watch Video Solution

12. Evaluate : .

Watch Video Solution

cos 38∘ cos 52∘ − sin38∘ sin 52∘

13. In , angle B is right angle, AB = 20 cm and BC =

21 cm. The value of sin A is :

A. 

B. 

ΔABC

20

21

21

29

https://dl.doubtnut.com/l/_wqKObPhJjyno
https://dl.doubtnut.com/l/_OQSMh7W3vJkQ
https://dl.doubtnut.com/l/_pXQ5w9SPr8OE


C. 

D. 

Answer: A

Watch Video Solution

20

21

21

20

14. Find the area of sector of a circle with radius 4 cm and

angle .

Watch Video Solution

60∘

15. The volume of a cone having radius 3 cm and height 7

cm will be :

https://dl.doubtnut.com/l/_pXQ5w9SPr8OE
https://dl.doubtnut.com/l/_Ieg1m0QuATl6
https://dl.doubtnut.com/l/_9KR1zjc72Zij


Set A Section B

A. 

B. 

C. 

D. None of these

Answer: b

Watch Video Solution

166cm3

66cm3

266cm3

16. A die is thrown once. Find the probability of getting a

number less than or equal to 4.

View Text Solution

https://dl.doubtnut.com/l/_9KR1zjc72Zij
https://dl.doubtnut.com/l/_px9zKNbqrWqr


1. Apply the division algorithm to find the quotient and

remainder on dividing p(x) by g(x). 

.

View Text Solution

p(x) = x3 − 3x2 + 5x − 3, g(x) = x2 − 2

2. ABCD is a trapezium in which AB||DC and its diagonals

intersect each other as the point O. Show that

.

View Text Solution

=
AO

BO

CO

DO

https://dl.doubtnut.com/l/_4xBQbci0Fctl
https://dl.doubtnut.com/l/_KbJyhtIEogLh


3. If  and 

, then

find the value of A and B.

View Text Solution

tan(A + B) = √3

tan(A − B) = , 0∘ < A + B ≤ 90∘ , A > B
1

√3

4. Find the area of the shaded region in figure where ABCD

is a square of side 14 cm. 

https://dl.doubtnut.com/l/_vVXOa3gst7tm
https://dl.doubtnut.com/l/_XtiZBCZ0Nhfw


Set A Section C

Watch Video Solution

1. Solve the following pairs of equation by elimination

method: 

 


.

Watch Video Solution

x + y = 6

2x − 3y = 4

2. Find the roots of the quadratic equation

 by factorisation method.

Watch Video Solution

2x2 + x − 6 = 0

https://dl.doubtnut.com/l/_XtiZBCZ0Nhfw
https://dl.doubtnut.com/l/_h8QpvXJeKl6G
https://dl.doubtnut.com/l/_7qggJvpXa51p


3. An AP consists of 50 terms of which 3rd term is 12 and

the last term
is 106. Find the 29th term.

Watch Video Solution

4. Find the corrdinates of the point which divides the join

 in the ratio 2:3.

View Text Solution

( − 1, 7) and (4, − 3)

5. Savita and Hamida are friends. What is the probability

that both will have (i) different birth days? (ii) the same

birthday? (ignoring a leap year).

https://dl.doubtnut.com/l/_7qggJvpXa51p
https://dl.doubtnut.com/l/_oIqp44H7sloT
https://dl.doubtnut.com/l/_rPJjOoSNdzT5
https://dl.doubtnut.com/l/_oKR8mSbbVP3A


Set A Section D

View Text Solution

1. In a class test, the sum of Shelall's marks in Mathematics

and English is 30. Had she got 2 marks more in

Mathematics and 3 marks less in English, the product of

their marks would have been 210 . Find her marks in the

two subjects.

View Text Solution

2. From a point on a groud the angle of elevation of the

bottom and top of a transmission tower fixed at the top of

https://dl.doubtnut.com/l/_oKR8mSbbVP3A
https://dl.doubtnut.com/l/_ak5G6suXYkx3
https://dl.doubtnut.com/l/_jqMvKseSjkNm


a 20 m high building are  and  respectively . Find

the height of the tower.

View Text Solution

45∘ 60∘

3. Prove that : 

.

View Text Solution

=
cot A − cos A

cot A + cos A

cosecA − 1

cosecA + 1

4. Metallic spheres of radii 6 cm, 8 cm and 10 cm

respectively, are melted to form a single solid sphere. Find

the radius of the resulting sphere.

View Text Solution

https://dl.doubtnut.com/l/_jqMvKseSjkNm
https://dl.doubtnut.com/l/_q18Q4Bd0HUl3
https://dl.doubtnut.com/l/_vJMzTwkWlp3M


Set B Section A

5. A survery was conducted by a group of student as a part

of their envionment awareness programme, in which they

collected the following data regarding the number of

plants in 20 houses in a locality. Find the mean number of

plants per house. 

 

Which methode did you use for finding the mean, and why

?

View Text Solution

https://dl.doubtnut.com/l/_RAwyTOSMU6a2


1. If H.C.F. of 306 and 657 is 9, then their L.C.M.

Watch Video Solution

2. Find the sum of the zeroes of the quadratic polynomial

.

Watch Video Solution

3x2 + 5x − 2

3. For what value of k, the following pair of linear

equations have infinitely many solution? 

.

A. 

kx + 4y + 6 = 0, 3x + 8y + 12 = 0

k = 0

https://dl.doubtnut.com/l/_B41Nw9huR8Aq
https://dl.doubtnut.com/l/_BCQfqYCtUNOi
https://dl.doubtnut.com/l/_bCC3iGKrEuUP


B. 

C. 

D. 

Answer: C

Watch Video Solution

k = 3

k = 2

k = 1.5

4. 15th term of the A.P.  is :

A. 

B. 

C. 

D. 

, , , ………………,
1

3

5

3

9

3

13

3

61

3

6

5

19

https://dl.doubtnut.com/l/_bCC3iGKrEuUP
https://dl.doubtnut.com/l/_ajhEyKoaESaT


Answer: C

Watch Video Solution

5. Find the common difference of the A.P. 

,…………. .

Watch Video Solution

5, 6 , 8, 9
1

2

1

2

6. In the given figure

, then ΔODC~ΔOAB, ∠BOC = 100∘ , ∠ODC = 60∘

https://dl.doubtnut.com/l/_ajhEyKoaESaT
https://dl.doubtnut.com/l/_xpPmP0ckQ65u
https://dl.doubtnut.com/l/_rqisDWJlBMG8


 


View Text Solution

∠OAB……. (40∘ )

7. The maximum number of tangents drawn from an

external point to a circle is :

A. 0

B. 1

https://dl.doubtnut.com/l/_rqisDWJlBMG8
https://dl.doubtnut.com/l/_xuS4ABCKNhC2


C. 2

D. 4

Answer: B

View Text Solution

8. If  are the two tangents to a circle with

centre O. so that , then 

.

View Text Solution

T P and T Q

∠POQ = 115∘

∠PT Q = ………. (65∘ )

9. Find the distance between the points (a,b) and

.( − a, − b)

https://dl.doubtnut.com/l/_xuS4ABCKNhC2
https://dl.doubtnut.com/l/_suNB0AqENqV4
https://dl.doubtnut.com/l/_HmnSD2pK9zgA


Watch Video Solution

10. Find the midpoint of the line joining the points (-5,7)

and (-1,3).

Watch Video Solution

11. In , angle B is right angle, AB = 15 cm and BC = 8

cm. The value of sin A is :

A. 

B. 

C. 

D. 

ΔABC

15

17

8

17

15

8

8

15

https://dl.doubtnut.com/l/_HmnSD2pK9zgA
https://dl.doubtnut.com/l/_AaDF46cTc32g
https://dl.doubtnut.com/l/_7FjX3TKYQCy7


Answer: B

Watch Video Solution

12. Find the area of the sector of a circle with radius 5 cm

and angle .

Watch Video Solution

60∘

13. The side of a cube is 12 cm. Volume of cube is

A. 

B. 

C. 

144m3

1008m3

1728m3

https://dl.doubtnut.com/l/_7FjX3TKYQCy7
https://dl.doubtnut.com/l/_ulbT5iY5ZdtY
https://dl.doubtnut.com/l/_cezz7qlLXA0E


D. None of these

Answer: C

Watch Video Solution

14. A card is drawn from a well shuffled deck of 52 cards.

Find the probability of getting an ace.

View Text Solution

15. Apply the division algorithm to find the quotient and

remainder on dividing p(x) by g(x). 

.

View Text Solution

p(x) = x3 − 3x2 + 5x − 3, g(x) = x2 − 2

https://dl.doubtnut.com/l/_cezz7qlLXA0E
https://dl.doubtnut.com/l/_dHbI1mCHImwi
https://dl.doubtnut.com/l/_EiDRwEIQUooR


16. The diagonal of a quadrilateral ABCD intersect each

other at the point D such that . Show that

ABCD is a trapezium.

View Text Solution

=
AO

BO

CO

DO

17. If , where 3A is an acute angle,

then find the value of A.

View Text Solution

sin 3A = cos(A − 26∘ )

18. The length of the minute hand of a clock is 14 cm. Find

the area swept by minute hand in 5 minutes.

https://dl.doubtnut.com/l/_EiDRwEIQUooR
https://dl.doubtnut.com/l/_onWzJJNFRfsj
https://dl.doubtnut.com/l/_IByRzim83Bvv
https://dl.doubtnut.com/l/_okfj0iudOSSl


Set B Section C

View Text Solution

1. Solve the following pai of linear equation by elimination

methods : 

.

Watch Video Solution

3x + 4y = 10 and 2x − 2y = 2

2. Find two such numbers whose sum is 27 and product is

182.

Watch Video Solution

https://dl.doubtnut.com/l/_okfj0iudOSSl
https://dl.doubtnut.com/l/_558XeD5takrU
https://dl.doubtnut.com/l/_w3VjTuWR0yRX


3. Find the 31st term of an A.P. whose 11th term is 38 and

16th term is 78.

View Text Solution

4. In which ratio the point  divides the line

segment joining the points 

View Text Solution

( − 1, 6)

( − 3, 10) and (6, − 8)?

5. Two players Sangeets and Reshma play a tennis match. It

is known that the probability of Sangeets winning the

match is 0.62. What is the probabilty of Reshma winning

the match?

https://dl.doubtnut.com/l/_CXNE4TwxN2HH
https://dl.doubtnut.com/l/_f7CwzFcEhKad
https://dl.doubtnut.com/l/_uqA1jN4lqT4T


Set B Section D

View Text Solution

1. The diagonal of a rectangular field is 60 metres more

than the shorter side. If the longer side is 30 metres more

than the shorter side, then find the side of the fields.

View Text Solution

2. A 1.5m tall
boy is standing at some distance from a 30m

tall building. The angle of
 elevation from his eyes to the

top of the building increases from 
to 
 as he walks30o 60o

https://dl.doubtnut.com/l/_uqA1jN4lqT4T
https://dl.doubtnut.com/l/_KiqU4ap586iy
https://dl.doubtnut.com/l/_pg8say4xpEzu


towards the building. Find the distance he walked towards

the building.

Watch Video Solution

3. Prove that : 

 .

Watch Video Solution

+ = 1 + secθ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

4. A 20 m deep well with diameter 7 m is dug and the earth

from digging is evenly spread out to form a platform 22 m

by 14 m. Find the height of the platform.

View Text Solution

https://dl.doubtnut.com/l/_pg8say4xpEzu
https://dl.doubtnut.com/l/_L6kjL3RQVBtK
https://dl.doubtnut.com/l/_DaccdhWjo6FU


5. The following distribution shows the daily pocket

allowance of
 children of a locality. The mean pocket

allowance is Rs 18. Find the missing
frequency f.

Watch Video Solution

6. If the median of the distribution given below is 28.5, find

the values of x and y.

W t h Vid S l ti

https://dl.doubtnut.com/l/_EhduiAs7CIPE
https://dl.doubtnut.com/l/_tRCD7gHhvZT4


Set C Section A

Watch Video Solution

1. If H.C.F. of 96 and 404 is 4, then their L.C.M.

Watch Video Solution

2. Find the product of the zeroes of the quadratic

polynomial .

Watch Video Solution

x2 − 3x − 4

https://dl.doubtnut.com/l/_tRCD7gHhvZT4
https://dl.doubtnut.com/l/_SZYbB1XMGwcT
https://dl.doubtnut.com/l/_5pqvwEEGm82w


3. The values of p, for which the equations

 have unique

solution is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6x + py − 5 = 0 and 3x + 2y − 8 = 0

p = 4

p ≠ 4

p = − 4

p ≠ − 4

4. 20th term of the A.P. 2 , 7, 12,………. is :

https://dl.doubtnut.com/l/_sG5ktuC5wbBE
https://dl.doubtnut.com/l/_hiYpawugDjeG


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−47

47

57

97

5. Find the common difference of the A.P 7, 13, 19,……… . Also

find the first term.

Watch Video Solution

https://dl.doubtnut.com/l/_hiYpawugDjeG
https://dl.doubtnut.com/l/_ct4eqhMTtaPv


6. In the given figure  , then the value of DB is

……….. . 

Watch Video Solution

DE ∣ ∣ BC

7. Areas of two similar triangle are in the ratio of 5:3, then

the ratio of their corresponding sides is :

A. 5: 3

https://dl.doubtnut.com/l/_aN5hzMIsAKhf
https://dl.doubtnut.com/l/_V1oTQ0uzBl4P


B. 

C. 

D. 

Answer: B

View Text Solution

25: 9

9.25

√5:√3

8. The distance of point A from the centre of the circle is 5

cm. The length of the tangent is 4 cm. The radius of the

circle is :

A. 3 cm

B. 4 cm

C. 5 cm

https://dl.doubtnut.com/l/_V1oTQ0uzBl4P
https://dl.doubtnut.com/l/_XcJCxaPfVYla


D. 8 cm

Answer: D

Watch Video Solution

9. The line intersecting the circle in two points is called

………….. .

View Text Solution

10. Find the distance between the points

Watch Video Solution

( − 5, 7) and ( − 1, 3).

https://dl.doubtnut.com/l/_XcJCxaPfVYla
https://dl.doubtnut.com/l/_XTJHtuGqjkDy
https://dl.doubtnut.com/l/_w77vAXoOKbFh


11. Find the midpoint of the line segment joined the two

points (2,3) and (4,1).

Watch Video Solution

12. If , then prove that .

View Text Solution

tanA = cot B A + B = 90∘

13. In , angle B is right angle, AB = 12 cm and BC = 5

m. The value of sin C is :

A. 

B. 

ΔABC

12

13

5

13

https://dl.doubtnut.com/l/_K40a65jVUNPu
https://dl.doubtnut.com/l/_6OD7XTp6uM2v
https://dl.doubtnut.com/l/_xYwRWZjfkEyz


C. 

D. 

Answer: C

Watch Video Solution

12

5

5

12

14. Find the area of the sector of a circle with radius 6 cm

and angle .

View Text Solution

30∘

15. The radius of base of a cone is 3.5 cm and height is 9

cm, its volume is :

https://dl.doubtnut.com/l/_xYwRWZjfkEyz
https://dl.doubtnut.com/l/_QpUSi8c51am9
https://dl.doubtnut.com/l/_uIVHm5DIopLK


Set C Section B

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

36π

110.75π

36.75π

16. If  , then find the probability of .

View Text Solution

P (E) = 0.05 ¬E

https://dl.doubtnut.com/l/_uIVHm5DIopLK
https://dl.doubtnut.com/l/_zchgxgZWcpiJ
https://dl.doubtnut.com/l/_GSy181U6pliq


1. Divide  by .

View Text Solution

3x2 − x3 − 3x + 5 x − 1 − x2

2. If  where 2A is an acute

angle, then find the value of A.

View Text Solution

tan = 2A = cot(A − 18∘ ),

3. The radii of two circle are 8 cm and 6 cm respectively.

Find the radius of the circle having are equal to sum of the

areas of two cicles.

View Text Solution

https://dl.doubtnut.com/l/_GSy181U6pliq
https://dl.doubtnut.com/l/_w9E6Xcr1zkRe
https://dl.doubtnut.com/l/_91Pq252Y37aU


Set C Section C

1. Solve the following pair of linear equation by elimination

method: 

.

View Text Solution

3x = 5y − 4 = 0 and 9x = 2y + 7

2. Find the roots of the quadratic equation

.

View Text Solution

3x2 − 2√6x + 2 = 0

https://dl.doubtnut.com/l/_KTFA5TSIzhxo
https://dl.doubtnut.com/l/_sEnqmF3w6yTV


3. The 17th term of an A.P. exceeds its 10th term by 7. Find

the common difference.

Watch Video Solution

4. Find the coordinates of a point A, where AB is the

diameter of a circle whose centre is  and B is 

.

View Text Solution

(2, − 3)

(1, 4)

5. Suppose we throw a die once. (i) What is the probabilty

of getting a number greater than 4? (ii) What is

probability of getting a number less than or equal to 4?

https://dl.doubtnut.com/l/_0PC0NEp0bAiL
https://dl.doubtnut.com/l/_iQbGzjUbbW7m
https://dl.doubtnut.com/l/_QZrqdY8klmjg


Set C Section D

View Text Solution

1. The difference of squares of two number is 180. The

square of the smaller number is 8 times the larger number.

Find the two numbers.

Watch Video Solution

2. A statue 1.6 m tall stands on the top of a pedestral .

From a point on the ground, the angle of elevation of the

top of the statue is  and from the same point the60∘

https://dl.doubtnut.com/l/_QZrqdY8klmjg
https://dl.doubtnut.com/l/_w5qkCZf9KEtU
https://dl.doubtnut.com/l/_bsikDII3RadJ


angle of elevation of the top of the pedestal is . Find

the height of the pedestal.

Watch Video Solution

45∘

3. Prove that : (Using identify  


.

View Text Solution

cosec2A = 1 + cot2 A)

= cosecA + cot A
cos A − sinA + 1

cos A + sinA − 1

4. How many silver coins 1.75 cm in diameter and of

thickness 2 nm, must be melted to form a cuboid of

dimensions .

View Text Solution

5.5cm × 10cm × 3.5cm

https://dl.doubtnut.com/l/_bsikDII3RadJ
https://dl.doubtnut.com/l/_OUgVGRLiNUSX
https://dl.doubtnut.com/l/_NB7l7F7kIbMu


Set D Section A

5. The following frequency distribution gives the monthly

consumption of electricity of 68 consumers of a locality.

Find the median, mean and mode of the data and compare

them. 

Watch Video Solution

https://dl.doubtnut.com/l/_NKupQCxGvD70


1. If H.C.F. of 135 and 225 is 45, then find their L.C.M.

Watch Video Solution

2. Find the sum of the zeroes of the quadratic polynomial

Watch Video Solution

x2 + 2x + 3.

3. For what value of K, the pair of equations

 has a unique solution?

A. 

B. 

2x − 3y = 1 and kx + 5y = 7

k ≠
10

3

k ≠
−10

3

https://dl.doubtnut.com/l/_UD1F9MqF0jye
https://dl.doubtnut.com/l/_3dAzhcpnDS9r
https://dl.doubtnut.com/l/_16nRgHMz8XiK


C. 

D. None of these

Answer: C

Watch Video Solution

k ≠
10

−3

4. 10th term of the A.P. 2,7,12,…….is

A. 

B. 

C. 

D. None of these

Answer: D

−47

47

57

https://dl.doubtnut.com/l/_16nRgHMz8XiK
https://dl.doubtnut.com/l/_9CaIXBv1MaTJ


View Text Solution

5. Find the common difference of the A.P - 8 , -5, - 2, 1…………. .

Watch Video Solution

6. In the given figure

, then 

………. . 

View Text Solution

ΔODC~ΔOBA, ∠BOC = 125∘ , ∠OCD = 70∘

∠OCD

https://dl.doubtnut.com/l/_9CaIXBv1MaTJ
https://dl.doubtnut.com/l/_kaRoQ2QTgO66
https://dl.doubtnut.com/l/_JkulSGcCpmog


7. The ratio of the sides of two similar triangles is 3:7, ratio

of areas of these two triangles is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

15: 3.5

9: 49

6: 14

49: 9

https://dl.doubtnut.com/l/_JkulSGcCpmog
https://dl.doubtnut.com/l/_P2zxx4xI6nXZ


8. Number of tangents drawn from a point inside the circle

is :

A. 1

B. 2

C. 4

D. 0

Answer: A

Watch Video Solution

9. If TP and TQ are the two tangents to a circle with centre

O. So that , then  is ………….. .∠PQR = 105∘ ∠PT Q

https://dl.doubtnut.com/l/_vjC4tQmrJXQs
https://dl.doubtnut.com/l/_xwZMk4DuRJoO


View Text Solution

10. Find the distance between the point (2,3) and (4,1) .

View Text Solution

11. Find the midpoint of the line segment joining the

points `(-3,4) and (1, - 2).

Watch Video Solution

12. Express  in terms of trigonometric

ratio of angles between .

View Text Solution

sin 67∘ + cos 75∘

0∘ and 45∘

https://dl.doubtnut.com/l/_xwZMk4DuRJoO
https://dl.doubtnut.com/l/_YwpjqFUluovn
https://dl.doubtnut.com/l/_x1jXxylPniII
https://dl.doubtnut.com/l/_4KXxuGtZou4z


13. In  is right angle, AB = 5 cm and BC = 12cm ,

then the value of  is :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

ΔABC, ∠B

cos C

5

12

12

5

5

13

12

13

https://dl.doubtnut.com/l/_4KXxuGtZou4z
https://dl.doubtnut.com/l/_OeUBpKlR3Zd6


14. In a circle of radius 5 cm an arc subtends an angle of

, then find the area of the sector.

Watch Video Solution

30∘

15. A solid sphere of radius 3 cm is melted and recast into

a cylinder of radius 2cm. The height of the cylinder is :

A. 8 cm

B. 9 cm

C. 7 cm

D. 10 cm

Answer: C

https://dl.doubtnut.com/l/_nCBRqSHrm5Ic
https://dl.doubtnut.com/l/_UOObgViPwQGV


Set D Section B

Watch Video Solution

16. A coin is tossed once. What is the probabitlity of

getting a head?

View Text Solution

1. Divide  by .

View Text Solution

2x2 + 3x + 1 x + 2

https://dl.doubtnut.com/l/_UOObgViPwQGV
https://dl.doubtnut.com/l/_hf9wQ2IXKQQz
https://dl.doubtnut.com/l/_2urOAzXe5jVc


Set D Section C

2. If  , where 4A is an acute

angle, then find the value of A.

View Text Solution

A sec4A = cosec(A − 20∘ )

3. The radii of two circle are 19 cm and 9 cm respectively.

Find the radius of the circle which has circumference equal

to the sum of the circumferences of the two circles.

View Text Solution

https://dl.doubtnut.com/l/_9B5yB1jYL3px
https://dl.doubtnut.com/l/_ERfdP0jp9Atx


1. Solve the following pair of linear equation by elimination

method: 

.

View Text Solution

+ = 1 and x − = 3
x

2

2y

3

y

3

2. Find the roots of the quadratic equation

.

View Text Solution

6x2 − x − 2 = 0

3. Find the sum of first 51 terms of an A.P. whose second

and thrid are 14 and 18 respectively.

View Text Solution

https://dl.doubtnut.com/l/_U5LlZEOXhcli
https://dl.doubtnut.com/l/_7XjqrLVHgFnP
https://dl.doubtnut.com/l/_aCgsbPjYNU2a


4. Find the value of K for which the points (8,1), (k , - 4), (2,

-5) are collinear.

Watch Video Solution

5. A bag contains a red ball, a blue ball and a yellow ball, all

the balls being of the same size. Kritika takes out a ball

from the bag without looking into it. What is the

probability that she takes out the (i) yellow hall? (ii) red

ball? (iii) blue ball?

View Text Solution

https://dl.doubtnut.com/l/_aCgsbPjYNU2a
https://dl.doubtnut.com/l/_ds1S3F5IfKzD
https://dl.doubtnut.com/l/_Bq0AYl7HCnOx


Set D Section D

1. A train travels 360 km at a uniform
 speed. If the speed

had been 5 km/h more, it would have taken 1 hour less for

the same journey. Find the speed of the train.

Watch Video Solution

2. From the top of a 7m high buildings, the angle of

elevation of the top of a cable tower is  and the angle

of depression of its foot is . Determine the height of

the tower.

View Text Solution

60∘

45∘

https://dl.doubtnut.com/l/_ZxjBSL2TZH4m
https://dl.doubtnut.com/l/_HhNMqNNTWTbj
https://dl.doubtnut.com/l/_bC9I0WyPbBsh


3. Prove that 

Watch Video Solution

(sin θ + cosecθ)2 + (cos θ + secθ)2 = (7 + tan2 θ + cot2 θ).

4. A drinking glass is in the shape of a first term of a cone

of height 14 cm. The diameter of its two circular ends 4 cm

and 2 cm. Find the capacity of the glass.

View Text Solution

5. The marks scored by 30 students of class X of a certain

school in a Mathematics paper consisting of 100 marks are

presented in table below. Find the mean of the marks

https://dl.doubtnut.com/l/_bC9I0WyPbBsh
https://dl.doubtnut.com/l/_Q8BXXzNI4MKm
https://dl.doubtnut.com/l/_ZjyawvCBRunB


obtained by the students. 

View Text Solution

6. A survey regarding the heights (in cm) of class X of a

school was conducted and the following data was

obtained. 

https://dl.doubtnut.com/l/_ZjyawvCBRunB
https://dl.doubtnut.com/l/_033CO5RsPVro


 

Find the median height.

View Text Solution

https://dl.doubtnut.com/l/_033CO5RsPVro

